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The test, measurement and evaluation are
used to perform the following functions: -
Determining status

Making comparison

Making appreciation

Giving warning

Find out the correct combination from the
following codes:

Codes:

(A) 1, 11t
(B) I, IV
(C) 1, 1l
(D) 1,1l

GGV T G Heiee @ sul e Ry
G @ Presy @ foy s irar & —

Rafa frefvor 2y

oI &R g

YRR & ¥y

CRIERIIE IR

A 1 @i § ad e i

(A1, 11
(B) 1, IV
() n,m

(D) 1, N

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R):

Assertion (A). WADA coordinates doping
programme  at the  National and
International levels.

Reason (R): WADA works to protect athelets
from the harmful effects of performance-
enhancing drugs and strives to create an
equal opportunity in atheletic competition.

Codes:

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not
correct explanation of (A).
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2. g @) gager Y 99 &) e &1 afieu (A) aie
AR B BRT (R) bl T Y|
afyserd (A) © WADA wisfrr aapr Jferefiy vy
WG BRIGH a1 g avar 2|
®RY (R): WADA Woi—uusla der) aid wied -
yardf & gifvey wa 7 Reenfyar o BERGINEH
& dur @ uRRIfdar § v agae P 6 fery
PRAINNG 2|

c\dv :
(A) (A) war (R) &1 wrd) ¥ aik (R), (A} &1 ue
WA EBYT |
(B) (A) corr (R) it widh & wesg (R), (A) a1 6
WESTHVOT
(C) (A) & & gesg (R) wiae
(D) (A) w1&1d & ueg (R) ol

3. Arrange the following schemes in a
sequential order  based on their
chronological origination:
. NSS . NDS
. NCC IV. NPFP

Codes:
(A) 111, 1V, 11, 1
(B) L1, 1, tv
(C) 11, 1, v, |
(D)Iv, 1,1, 1

3. Prafafya Mol @ wad arer by o o
BIAGATIR 2R Hforg —
I, THouHoTRIo I vao€ioven
. wsoioNo IV Tio@ouwiodio

et
(A) 1L, IV, 10, 1
(B)1, 11, 11, IV
(C) I, 1, 1V,
(D) IV, 1L, IV, |
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(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.
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4, A research problem should be finalised

considering.

(A) Availability of data, relevance and heaith
condition of research.

(B) Health condition of researcher, relevance
and ethical issues.

(C) Relevance, ethical issues and availability
of data.

(D) Ethical issues, availability of data and
health condition of researcher.

COeE WY @ aifwnt g s e
Qi BT A wEEl IR

(A) <uiwm @ U SR el e @l
welgEEar m WRey |

(B) wiwigmioncl @1 waiey, doiwd vy @ sy
TAT AP TR |

(C) <iwress vy & Weu e QU v e
& v sTeTR Sl

(D) Hfaw faowr, Wewd & U s WAl g

eleHaeT B SR |

When the identifiability of individual
performance is lost in a team performance,
decrease in performance seen due to
diffusion of responsibility indicates -

(A) Team Harmony

(B) Social loading

(C) Team process

(D) Group success

e P e rrrgior N
a ) gemg wawH T Aldivd Y
ez T -y —{\T S gy ymrgerriyeeor e
'gu- &\T STl 8, 7 YEWaTEd D

57 LEEE H %?QTQ G Tt B @l gicd

ill. Creative tactical action
IV. Special intellectual abilities
Find the correct combination:
Codes:
(A} land il
(C) it and il

(B) lit and IV
(D} 1lland IV

6 vodfe dryan o B R @ls sl @
Her @R B drgRAd BN & 9 wilEg g -
| RoriR wrerer @Y faftea
I faf¥ne @ite gruan
1. *STEd TS B
IV fefsse afge dmgdamn

EIaCtHVE IR

-

(A) Fsiell (B) Il s IV
(C) 1 i 1! (D) &RV

7. Following are the components
performance related fitness:
I.  Speed
{l. Explosive strength
{If. Body composition
V. Flexibility
V. Cardiovascular endurance
Find the correct combination of health related
fitness form the codes given below:
Codes:
(A) 11,1V, vV (B) V, I, 1l
(cyn, v (D) 1, V,

7 DA weREE Wl g & ue Ry H
I ofy

| wpTled &
. s I=we
[V e

V. gga gudl wgadlera
risfafard 0 vgmed el aHudl & U] @

WA g

Tactical abilities required to tackle the “ (A) 111, IV, V (B)V, 1, I
specific sport task includes: (C) 11, 11l, IV (D) i, V, |
Variations of tactical skills
il Special perception abilities
Page | 3
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8. Glucose in the form of Glycogen is stored in

I.Muscles

[l. Pancreas

lI. Liver

V. Stomach
Select the correct answer:
Codes:

(AYland Hl

(C) Fand Hil

(BY Il and IHi
(D) lit and IV

8. TEIZDIGH & BU H TSI IR H {1 il o
<ifar fur irar 22
L Aiusty
I} araerg
1. =
V. Sy
AN (R
e -
(A) L ET il
(C) Iz [l

(B) Il e [
(D) HI &err IV

9. Given below are two statements,

one

labelled as Assertion (A) and the other

labelled as Reason (R}):

Assertion (A): Ergogenic substanes increase

the sport performance.

Reason {R): Doping is harmful to health.

In the context of two statements, which

of the following statements is correct?
Codes:

(A) Both (A) and (R) are right and (R) is

correct explanation of (A).

(B) Both (A) and (R) are right, but (R) is

the correct explanation of {A).

(C) (A) is right, but (R) is wrong

(D) (A) is wrong, but (R} is right.

9. A W gaxda R M §1 e @ sy (A)
TEN @I FHWRYT (R) @1 7ur B |

Affdme (A) - ArioriTe el We ewar
EaGRS
PRI (R) Hrah—3lufd Jat wared »
BIHRE 2 |
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one

the

not

Jd2f

fag

Sudgd & el F Reafsfya 3 9 el ur Qess Gl

27

& —
(A) (A) dent (R) <1 @) & 3k (R), (A) @ @
WYY E |
(B) (A) wr (R) &1 wdl € U (R), {A) &1 gl
S br 1) € |
(C) (A) &Y 2, uvwd (R) e 2
(D) (A) erd &, ueg (R) wd) 21

10. Given below are two statements, one
labelled as Assertion {A) and the other
labelled as Reason (R):
Assertion (A): Knowledge of review of
literature  should be  referred  for
interpretation of results of a study.
Reason (R): Review of literature provides the
knowledge base of a research study.
In the context of the above two statements,
which one of the following is correct?

codes:
(A) Both (A) and (R) are true and (R) is the
correct explanation of {A).
(B) Both (A) and (R} are true, but (R) is not
the correct explanation of {A}.
(C) (A} is true, but (R) is false.
(D) (A) is false, but (R} is true.

10. T 41 pod Q2 qu & Ue wr 3w (A) e
GUR @ BRIV (R) del F6T |
Siffigent (A) WINE AT B AT @l 31 (Add
T @ iRE slgellwd G ol Bl AR Sl
arfev
wrRur (R) wifdey gwelion deUT U @
EARH IR SHE I ACHE
gt werll @ was G e 4 sl an e
2?

e
(A) (A) cen (R) @il ) & 3l (R), (A) @ ad
) ¢ |
(B} (A) ©orr (R) =il Wil ¥ wvig (R), (A) @1 4d
et 1d 2
(C) (A) i 2 uwd (R) redct 2
(D) (A) reia & g (R) wdl 2

Page | 4
Series-A



11. Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R):

Assertion (A): Obesity and its management
should be known to every citizen of India.
Reason (R): Obesity is one of the main
causes of heart attack.

In the context of the above two statements,
which one of the following is correct?
Codes:
(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).
(C) (A) is true but (R) is false.
(D) (A) is false, but (R} is true.

1. W Q@ Y W!* €, Ve ol afeud (A) del
QT @Rl (R) ©
AfirgerT ( ) dﬁm AR JUS WU B g H Ipf
WRA 77 Tat B IR engl aifRu
SRV (R) s g4T uawt & §Ed SRU §
V& € !

SuE &) wuE B vy = Eioifed § W e W
FIT WE &7
e
(A) (A) 3z (R) et =& & ar (R), (A) &1 a6
TR L
(B) (A) a=nn (R) 27 <1 & we (R), (A) &t
YLETHIT A & |
(C) (A) w1 8, uv=g (R) roid 2
(D) (A) merd &, uwd (R) @i &

12. In each stride cycle of running the following
phases are involved after foot plantation:
l. Backward support
fl. Forward support
I, Flying
IV. Absorption
Arrange these phases in order of their
appearance using the code given below:-
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Codes:
(A) IV 1 (BYIV I 1l 1l
(Cy 1 I v Oy 0oV

12. Gle—dd § GaH WY & qrg eifailyd srgeend
gl & —
l. U7 3reld
I 314 Aietd
. 31
V. 31eradap ey
e gaveal w7 Sk ufee 2w & w7 aafey
IS gor A R 1Y e @ 98 Jaw 4R
HE
(A) IV 1 (BYIV 1 11l 1
)1 v (DY I 1 IV |

13. Getting the right facts to the right people at
the right time in the right way is called.
) Motivation for Sports
B) Leadership in Sports
) Game Management
) Public relation in Sports

13 ) Ao Wl uEg wodd) wfdd ey ald) dda @
WRd BT — FEAAT B~

(A) it & fav gvon (B) wredl # “1igie

(C) Wl ydgeerd (D) W&l § ura ua

14. Observation in which the participants are
unaware that the researcher is observing
their behaviour, is

Participant observation

Non-participant observation

Undisguised observation

Disguised observation

>

— e
g 0
-— — B

o]

14 39 Yetor, R wear 9 ard ) ofs @1 &
f& wlgsddl 376 aER w1 YTl B e €, P
P BET 87

RGN

Y [T deror

TTH = YefuT

PER R G
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15. A gymnast performs giant swing 17. Achievement goal theory has three factors;

continuously for a number of times on a these are: -
horizoental bar by manipulating radius of I. Achievement goals
rotating of the body. For this he Il. Perceived ability
(A) Only decreases radius of rotation l1l. Task orientation
(B) Only increase radius of rotation V. Achievement behaviour
(C) Alternately decreases and increases radius Find the correct combination:
of rotation once. (AY 1,1, 1 (B) HI, IV, 1
(D) Alternately decreases and increases radius (C) v, 11, 1 (D)1, 11, 1V

of rotation continuously. N

17 uysifar ey Rygrd § dw a9 &g § -

15. ud Risdice v & ’tgl‘i @l Foar § Gy gad L Sueilar e

BB (*H AN @d 4R afafie Gug ux onge R I s e
BT B TG HU gg: N &Td afgedau
(A) daet golst @l (Fa o yerdr & | V. Susfa aaar
(B) dact yoit & Bl &) dardr ¢ | HET AT ddigy
(C) vfa & Bl &1 e g 90— werdl oiiv (A) 0,1 (B) 10, 1V,
qardl | (C) IV, I, 1l (D)1, 0, IV
(D) yubst & 3o &) @mar aR-ad O "erdr i
1T € | 18. Foilowing tests are wused to measure
strength of different forms:
16. Whirlpoo! therapy used in sports medicine I Sit-ups
includes: Il. Squat jump
I Message lIl. Medicine ball throw
II. lce Packs v PUH-UDS
Ill. Water Immersion Ameng them strength endurance is measured by
IV. Infra red (A) and Il (B) Il and IIi
Select the correct answer (C) Il and IV (D) IV and |
(A) 1and Il (B) I and Il
(C) Hand I (D) i and IV 18, REW dQa) @) wifag @) s @ Twy ealsfhg
flevif o YU feur Wid 9
16. wdidwr A¥RE A goeiyer Pafsanr § Fefag § | Rie-ars
W fewrat g far s 87 o Sade ui
(A) =ifeie HE a8 dler By
(B) 9w @ orely IV, ga—aiw
(C) it & garem g8 & Ed agaviad e Joond 82
(D) gBT ¥ (A) 1auril (B) 1l c2ur I
(A) 1Tl (B) I T Il (C) M= v (D) IV @i |
(C) Haar il (D) M =1 IV

Page | 6
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19. Given below are two statements, one
labelled as Assertion (A} and the others as
Reason (R).

Assertion (A): Evaluation = measurement
compared with objectives.

Reason (R): Measurement and evaluation
play a very important role in physical
education,

In the context of the above statement, which

one of the following is true.

Codes:

(A) Both (A) and(R) are true and (R) is the
correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).
(C) (A)is true but (R) is false.
(D) (A} is false but (R) is true.

19. Td G geaa ol a3 ¥ wa @ sifeert (A) e
GER @1 @R (R) dEr Tar &
Affrmert (A) geutar = Sgavul &) qorr # A
GRO(R) s oyl geuie wORe e H
ABEGYDT ~ifR e g
S @] ddid @ g
g7
dE— (A} (A) G (R) 2t vl
el Uepur 2
(B) (A) @ (R) <1+l w181 2, uwg (R), (A) &1 s
el ) 2 |
(C) (A) widl 8, wreg (R) wreiet &
(D) (A) waid &, uveg (R) &l 2

o
5 Praffyd 4 @ @ )

(R), {A) @r

20. If height and weight of a person are 160 cm
and 64 Kg. respectively, his ponderal index
will be
(A) 35.5 (B) 45.5
(C) 50 (D) 40

20. Ul v afdd & Turd alv Wb 4o BHY 160
q?lﬂo HIX 64 [FBETTE € e IUST Ul grIdR]
&1 |
(A) 355 (B) 45.4
(C) 50 (D) 40
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. Constipation occurs due to -

Less functioning of large intestine
Less intake of water

More intake of water

Extra eating

B D BT BT BT
ST AT BT B4 Hrd Bl
HH UTIT Bl

e u T G

SUTE] AT e

. In the high altitude cne can jump higher

because

Air resistance is less and muscle strength is
more

Muscle strength is more and body mass is
fess.

Air resistance is less and body weight is less.
Body mass is less and air resistance is less.

e Sag w wled Jar gu awar 3 gdify —
argy yiokie @H il & den siauen efed i
g &y

Hauei sier afve Qd S e
BH AT

28 ! Zar

a1y iR wH B 8 G Y B8 Gt B
€1

NIV BT qHT @ ddl 8 R dy UdY @
gIT & |

X"and Y' are pulling each other in a tug of
war. Inspite of best effort Y is dragged by X.
Work done by Y is -
Positive work

Zero work

(B) Negative work
(D) Work due to gravity.

REAI=dl H X a2l Y vh e al oia w8 §1ud
AT o1t G @ wavid Y @l X un i R

&

SHAT 81 Y g fdu un anf & -
YeITHE By (B) shelicids aTdd
A (D) sy & @

Page | 7
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24. Which one of the following:is correctly

matched?

(A} Determining - Selection how well?

(B) Determining - Measurement how much?
(C) Determining - Evaluation how good?

(D) Deciding - Test selection or reject.

24. f=fafyg & @ &9 v o o &7
(A) fraa wehify — wua FufRa 27

(B
(C
(D

)
) foer
)
)

gHoT H — W fgifa 27
f?mﬁ I wu A~ qeuiat Maifa 87
wWrafa derr — gdievr sRafiefa o1 Prafeor?

25. Which of the foliowing is health related

fitness component?

(A) Reaction ability

(B) Agility

(C) Speed

(D) Muscular endurance

25, fr=fafg & @ &9 W wren § gRfAad

“fre ged 87

(A) gfafeur v 9 dreyar

(B) BHt

(C) wrfa

(D) wshy wemifa

26. Which of the following disease is
categorized as Psychosomatic disease?
(A) Small pox (B) Tuberculosis
(C) Asthma (D) Jaundice

26. f=faRed # 9 59 79 a’kiRe ) & onfy &
A?

(A) == (B) aufem

(C) == (D) Qiferar

27. Which sport was eliminated from Olympic

list during the Executive Board Meeting of
fOC at London and has made a successful
comeback for 2020 Olympic at recently held
General Body meeting of 10C?

AP/2016/0032

27.

28.

(A)
(C)

{A) Baseball (B) Softball
(C) Golf (D) Wrestling

e F araiforg sngosiioio & erRf@rd ufkye @l
Iz H 5w Wa & Meys T gd 9 N R
g oo v O grel ® araforg ardoaionflo &
FE WM B OATFE H 2020 H mAfSid w1 g

et & fare enfaer o forar T Q?
ARIAT (B) | @dra
TEH (D) azeeht

. In a 400 m race the second lane runner

started with stagger distance of 7.04 m.
What will be his displacement at completion
of the race?
(A)400m
(C)7.04m

(B)Om
(D) -7.04 m

400 Hlo # UF die A fgdiy e Ty B arge 7.
04 W0 @ ¥R GO F &g e fhan) S @
FHIfT W IUFT fewerdie agr grr?

400 0 (B)o #io’

7.04 HI0 (D) —7.04 Hio

. Biological basis of physical activity involves:

Sex and age characteristics
Growth and exercise

. Motor skill acquisition
. Transfer of training

Find the correct combination

(A)
(C)

29.

I

Il
(]
v

land }I {B) i and IH
Il and IV (D) IV and |
smRs feuresny & e denfre smur ¥ fafka

D

form ot a1y rfiveteror
gig Tur amaH

AT PIYTA Afermgvr
Tf3retur T g

TE FAISH dAdTEU

(A)
(C)

Series-A

| e
"l e vV

(B) Il < 111
(D) IV ot |
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30. Istet  of Langer Hans produces two
hormones:
[. Corticoids Il. Glucagon

lll. Gonadotrophic IV. Insulin
Select the correct answer

(A) tand I (B) Hand IV
(C) land IV (D) IV and |
30. WIS WiB R B @M g e weiw g
R &7
. BIdTaarTsa . Tegaetvy
Hi. T e IV. gyfor
Jdl IR ghvg
(A) I & || (B) I a2 1V
(C) n e v (D) IV qar |

31. The categories of ergogenic aids are given

below: -
I. Methylephedrinell. Testoteroe
. Myoglobin IV. Glycolysis

Find the correct combination from the codes
given below:

Codes:
(A1, IV (8) 11, 11
()1, n D)y H, v
31, UOTSIFS twe o sl Any @ g
| Bargedgrza I, eerev
Hl. "RraTde V. ergaifoxiia
G119 Y M Be A 9 Wiew I m B
(AV LIV (B) I, HI
(C)1, 1 (D)1, IV

32. Implications for techmques training in first
phase include:
I. Less Corrections
H. Practice under easier condition
" lIl. High Frequency o competition
IV. Stress on kinesthetic perception
find the correct combination
(A)Tand I (B) Il and 1l
(C) M and IV (D)land IV
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32.

BB

33.

33.

Series-A

vaH v H gafie uliete ¢ v fqasisl §
e & —

| &% Terdl yur

.3 gRfeerfy & ey

HI. sfofiver @) 3=a sigfes

V. srgefes 9w e aarg

TS g
(A1 o i (B) 1l & 11
(C) a1V (D)1 T IV

Given below are two statements, one is
labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A): In Parry O, Brien technique of
putting the shot gliding from initial stance
position is the main phase of the technique.
Reason (R): Gliding increases momentum of
the body.

In the context of the above two statements,
which one of the following is correct?

Codes:

(A) both {A) and (R) are true but (R) is not
the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is the
correct explanation of (A,

(C) (A) is true but (R) is false.

(D} (A) is false but (R) is true.

g T quae R Y ¥ U @y afveer (A) den
U B B (R) BBl T

IR (A) CowayE o 4% o) v dede o
SR WGE B @ ga O TS fyaedl deee
B YHE R |

BRUT(R) ¢ G Rawse (engfEn) wdv & i
FT FITA 2|
@gm S dorl B wies ¥ Prsfiigas ¥ 9 @
11 wdr 27
'c'ﬁ*fe -

(A) (A) o (R) =@
W) FE

(B} (A) @orr (R) =0 @) &
T |

(C) (A) @l & uwsg (R) =
(D} (A) 7rerer 2, av=g (R) @il -

e A (R), (A) Bl ad

R (R), (A) &1 9D

My

!
f

(a8 2
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34.

34.

35.

35.

36.

36.

37.

37.

In a gait cycle of walking the ratio of stance
phase to swing phase is approximately.

(A) 60:40 (B) 50:50

(C) 40:60 (DO 70:30

Te B e Wgde ¥ Wi Wl MR R v &1
SIS @1 BT

(A) 60:40 (B) 50:50

(C) 40:60 (DO 70:30

Intelligence Quotient is computed with
which of the following formula?

(Ay M4 (B) & s 4
100 100

(C) Ej, X100 (D) =2 x 100
C.A 1.4

Frfafed feu g & 9fy afer &) qumn @ s

87

(A) M.\'(‘uﬂl.
100

(C) M4 100
C.A.

-

(B) &t s
100

(D) C.A. <100
M. A

Which Hepatitis is slow killer?
(A) Hepatitis-A (B) Hepatitis-B
(C) Hepatitis-C (D) Hepatitis-D

fp=ifarfia & @ @h wr Wersfew He wmaw €7
(A) 2ergferi—v (B) guergfea—dl
(C) eefeu—W (D) Btergfey—l

Find out correct agonist - antagonist pairs.
|. Trapezius - deltoid

1. Pactorals - latissimus dorsi

[ll. Adductor Magnus - Brevis

IV. Serratus anterior - Rhomboid

V. Soleus - gastrocnemius

(A) 1, llland V (B) 1M, IVand V

(C) I, Hi and V (D)1, lland IV

T vfe — Termfire Siel &1 yar &g —
| dqfoioe - Sius

. YRy — e sl

1. sreaer Hm=e — dfas

AP/2016/0032

38.

38.

Series-A

V. ARy VORI Ig

V. difdrers — IRgRARTRY

(A) 1, 1l 3R V (B) I, IV 3RV
(C) 11, i sl V (D)1, 11 3R IV

Given below are two statements, on
labelled as Assertion (A) and the other a
Reason (R):

Asserion (A): Fineness is a total concep
which concerns the whole individual.
Reason (A): Regular participation in physice
activities contributes to physice
development which means development ¢
physical power, ability to recover and abilit
to resist fatigue.

in the context of the above two statements
which one of the following is correct?

(A) (A) is true, but (R) is not the correc
explanation of (A).

(B) (A) is true and (R) is the correc
explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

RNy @ wud Ry M ¥ up @ Af@ed (A) 3
ga @ &Rl (R) dEl Tl €

F@e (A) ¢ CEHET Ve ol arvl R S ¥y
afd 3 vy B 8
FRoT (R) : wORe fwel # frafg o

iRe ferd § weme B & Rrier e
TRRS Wl g Wiftd T AEGE DI g WG
&THAT |

TR @ e @ el ¥ @1 W e ad 8?
(éA) (A) & & uweg (R), (A) @7 A Glanor o
|

(B) (A) ¥ & @er (R), (A) &1 mﬁ WG B |
(C) (A) ¥&T 8, uxeq (R) Teidt

(D) (A) TTefd B, tr\frg (R) Hé’r 2
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39. Given below are two

statements, one
labelled as Assertion (A) and the other as
Reason (R): Assertion (A): Researchers use
both open ended and closed-ended
questions to collect data.

Reason (R): Open-ended questions provide
qualitative data in the participants' own
words.

Which of the following statements is correct?
Codes:

39.

40.

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

A we B oo w ¢ R W wem @)
G (A) 310 THu B ad (R) wer
s (A) - sauTmal sieEl o g@ear e
& fou gerar 7v0 o dfim geaed anl e
WA FRT |

SR (R) @ TR FETas wlAUrh & a9 weet
H TUITES S FEUT G ¥

frfafea & & @ wr wuT v ¥

(A) (A) @ik (R) aFr w7 & aiR (A) 9 (R) @&
HET YRAT & |

(B) (A) 3k (R) < widt % sk (A) & (R) @l
e e T R

(C) (A) e &, wreg (R) Tee & |

(D) (A) e €, uwsg (R) we) &

Find the correct sequential order of the
process of inspiration in our respiration:

l. Lung volume increase/ pressure decreases
. Air rushes in

HI. Inter-costal muscles contract

IV. Diaphragm descends down

V.Sternum moves forward

Codes:
(A1, 1L, v, 1, v (B)4 1,1V, v,
(CyIv, L, v (D) IV, 1, v, 1,11

AP/2016/0032

40.

41.

B OYIBAT b AN WY dfer A wwy @)
g BT E BH gy —

| BBl & AR qadr / qard @ gear

. arg &1 srav g yd9r

. g7er—aRes Jivdel daws

V. Srawtq @1 e Rawrasr

V. %eHq &1 3 g

(AYIL LV, 0L IV
(C)IV, 1, 11, 111, V

(B) 1, 11, 1V, V, Il
(D) IV, 1, V, 1, 11

Put the following stages in a sequential
order to indicate how a group becomes a
team:

[. Storming

. Norming

HI. Forming

IV. Performing

Codes:

41.

42.

42.

Series-A

(A) I, 1, 01, 1V
(C) L, 1, 1L, 1V

(B) I, 111, IV, |
(D) IV, I, 11, 11

Frefafaa odl &1 s oy G R ag
e A b T g e A R yeR g9 o)
g~

| wffi

1. =fifde

|11, wifr

IV. aewififa

(A1, 1,0, v
(C) 1, 1, 1, v

(B) 1L, 111, IV, |
(D) IV, 1, 11, 11l

Fetal alcohol syndrome is associated with
which of the following?

(A) Leukaemia (B) Hepatitis
(C)Phenylketonuria(D)Developmental
disabilities

wled Temlgd Reglg Frafafeg § O feg @

arIfRg 27
(B) aergfey

(A) et
(C) wfamerRar (D) ReriTcas arerear

Page | 11
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43. Arrange the following steps of organising an
event in a proper sequence using the codes
given below:

I. Assigning resources and responsibilities

II.  Grouping of the tasks or responsibilities

activities

lil. Coordinating

responsibilities

the

V. ldentifying specific tasks or activities

Codes:
(A) 1,11, 10, 1V
(Cy L,y

43, B gt & osmAdorn @ eififga el @y
I ey AR .

(B) 11, 111, 1V, |
(D) IV, 11, 1, 111

Lo =T gd Svaift! oF wydah

. ol o SreverdE & fay gl a1 i
N wfafafodt @iy sewafial @ dra area-ad $37 |
V. faftre sl afiv afafdfaul & uggrm

EOW :
(A) 1,11, 1, v
(C) 1, 1, I, IV

44. Match the terms of List-I with that of List-!i
and indicate perfect matching out of ABCD

below:
List-1
[.  Wax bath
[l Whirlpool
bath
Il Short wave
diathermy
IV lce massage
V. TENS
Codes
i
(A) 2
(B) 5
(C) 2
(D) 4

AP/2016/0032

[REN 2 I SRR N

N

(B) 11, 1L, 1V, |
(D) IV, 11, 1, 111

List-l
Cryotherapy
Superficial

thermo therapy

Electrotherapy

Hydrotherapy
Penetrative

thermo therapy

Ur = wWon

w h -

N N W <

44, -1 B gdi-ll & g yAfdd PR e A

>

=]

A
g dfy
goige dfer
e Jg ST
g% Hiforel
E10g0UI0TI0

ik W e

SN U N
U D
Ul = W U —

45. Make correct pairs:

l.
I
1]
vV

Milk,cheese, yogurt
Meat, poultry, fish
Vegetable group
Bread, Rice, Cereal

Codes:

I
2
2
1
1

w N hw

Series-A

1
2.
NESIIEE 3.
g8, FdE Fear 4

o= NN —
oW ow N

o M we ¥ wh IR g -

Sl
CARIDE
Y vl
ERE PRl
BIERIDrH
FAETE AN

v V

1 3

4 2

4 3

3 2
1. Crbohydrates
2. Calcium and Nt
3. Protein
4.  Vitamins

v

1

1

4

2
FgYge
HiFyn & ey
Yidn

vV

1

1

4

2

Page | 1



46. Match List-l with List-| and select the
correct option using the codes given below:

List-I List-11

l. Temporary Lloss 1. | Phse

of form
Il Restand recovery 2. llphase
I Achieving & 3. IVphase

maintaining  top

form
IV Development of 4. |y phase

training state

Codes:
I I ] v
(A) 2 3 4 1
(B) 3 1 4 2 >
(C) 4 3 2 1
(D) 1 4 3 2

46 T -1 I @ v AR ik me @ wd
TR & w7 B -

| -1

LSRRI 3T 9 WA 1| e

WY H fvge
LI EEiE e I D Jp—
M S=8 98 IR B 31wy

USRI i e

RG]
IV REO SR d 1 4 i) e

fawrg
%

| i 1 v

(A) 2 3 4 1
(B) 3 1 4 2
(C) 4 3 2 1
(D) 1 4 3 2

47. Niacin is found in which of the following?

(1) Tomatoes (1) egg
(I11) Cereals (IV) Butter
(V) Yeast

Codes:

AP/2016/0032

(A) (1) and (11)
(C) (1) and (V)

(B) (1) and (Iv)
(D) IV and (1)

47. frerfefae ¥ 9§ frad Prafy qrar SiTer 27

(1) zmree (1) sfer

(1) st (V) Fergs

(V) e

-

(A) (1) 3= (1) (B) (i) &= (1v)
(C) (1) 3ix (v) (D) IV 3= (1)

48. In a lever, if force arm is 4 mts and
resistance arm is 6 mts, then how much
force is required to lift a load of 10 kg?

(A) 10N (B)2.4 N

(B) 6.67 N (D) 15N

48. ITITH W AR o7 qon 4 Mex B sl ey Bl
6 X & @ 10 Rehum™ TR Wor B fyu R
a9 B rgRIRT v

(A) 10N (B)2.4N

(B) 6.67 N (D) 15N

49. Basically a problem for the nature of truth js
(A) Ethics (B) Axiology

(C) Law (D) Epistemology

49. W B Bl qord FE §
(A) Afv@ar & fay

(B) #ey Naryr & farg

(C) @7 & fog
(D)

50. The width of the Foot rest of starting block is

increased from
(A) 120 to 150 mm
(C) 120to 160 mm

(B) 120 to 140 mm
(D) 120 to 130 mm

50. R2UET wlies & e @ der EEIEIRIER
(A) 120 & 150 o
(B) 120 ¥ 140 fyeo
(C) 120 & 160 g0
(D) 120 & 130 fimfio

Page | 13
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51. Women athletes who are using anabolic
steroid are inviting health hazards relating to

| Liver dysfunction

I Muscle atrophy

Il Breast cancer

VV infertility

V. Growth of male secondary sexual
characteristics

VI Bouts of Margin
Find out the correct combination from the
following codes:

(A) 1I, 1l and VI are correct

(B) I, 1V and V are correct

(C) I, IV and V are correct

(D) I, 0 and VI are correct

-

51. HiRell f&eidl St Tl wrigs swdwre wed)
8 I varey yaNy e F 9 ey wwfg g
NC I

[ FHT &1 ) SR} T vy

N wrade @1 wrer g

NI, a8 dar

V. @rgrgs

V. G it feed) [99mansi o1 Raen

VI, |18+ & gied

Rl @ @l go sng A

(A) I, I siv Vi ) &

(B) 1, IV3ie V it 24

(C) H,IVairv V widl 7|

(D) 1, 3l VI 4d) &

52. In case of top level atheletes, periodization
is characterized by

| Higher proportion of conditioning nd tactical
training

Il.  Double or triple periodization

HI. Shorter preparatory and longer competition

periods.
IV. Lower frequency of Competition
Codes:
(A) land IV (BY Iland I
(C) Nland IV (D) I and NI

AP/2016/0032

52, ey Ryenfedl & ol ¥ ercueaga @
ERIEGH =

Lo srgega werm yfaa ufler @ Swaor apqurg |

. e srrar Baefy eraaeaga |

NI ety Gard aoref aer ovar ufdeder! aio

V. ufdRagi &) a5 91w

@e
(A) a2 v (B) 1 aur 1
(C) lidean v (D) I dorr 11}

53. Given below are two statements, one lablled
as Assertion (A) and the other labelled as

Reason (R):
Assertion (A): For elite atheletes group
training plan ensures optimum

development.
Reason (R): Group plan helps in identifying
talent,
In the context of two statements, which one of
the following is correct?
Codes:
(A) Both (A} and (R) are true and (R) is the
correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)
(A)is true, but (R) is false
(A)is false, but (R) is true.

[CH)

53. Fd & sEE Y Gy vR B RN Q gun @)
FREaE (A) 3 BdE Bl da (R) wer
(A) 0 Ted @y fuenf&al & fay g

[ P AR N | o ,
BRI @y i giafdae eed 3

2 Tif e L T DNy
Ooufenn @ oudan §

N ONTS L NN S oo
frfaifag & O v o @ “al Bl
.

(A) (A) 3% (R) @11 widr 2 20 (A) @) (R) W) ama

g

(B) (A) 3 (R) arli wér & 3i (A) &1 (R) a1 aieay
GRS

(C) (A)wér &, ueeg (R) 7eid &

(D) (A) wrerd & uReg (R) W) 21

Page | 14
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54. Given below are two statements, one s
labelled as Assertion (A) and the other is
labelled as Reason (R):

Assertion (A): Norm is a standard set of
scores with which an obtained score is
compared

Reason (R): Data is interpreted through
different statistical techniques.

in the context of the above two statements,
which one of the following is correct?

Codes:

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)

(C) (A)is true, but (R) is false

(D) (A)is false, but (R} is true.

~—

54. I Q1 BUT QY Wi @ ¥ uenr 3 @ (A)
AN DY &1 ads (R) der 27 8|

dFwer (A) ¢ e ve wiws Sl W s ©
R ura sio! & waa & G’nﬂ g
SE (R) EES I R czxa? deiiat @

AR QTR T
@He i SareH SR BT TueT

(A) (A) 3iIv (R) & oy &
T

(B) (A) 3R (R) & 1) & aine T (A) B (R) ey @y
Tl R

(C) (A) =) & weeg (R) ere & |

(D) (A) wrera 2, uve (R) widh & |

4

m?Q
SR (A) @ (R) U @
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55. Given below are two statements, on
lavelled as Assertion (A) and the other a
Reason (R):

Assertion (A): During high intensity shor
term exercises energy supply to the workin,
muscle is made by ATP-PC and lactic aci
system.

Reason (R): Through Kreb cycle and Electror
transport system sufficient ATP is produced.

In the context of two statements, which one o

the following is correct?

Codes:

(A) {A)is true but (R) is false.

(B) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)

(C) (A)is false, but (R) is true.

(D) Both (A) and (R) are true and (R) is the
correct explanation of (A).

85 T < BT T Un k& & vt wu @) aiftywer
(A) 3 ¥R &1 da (R) bt gy 2
@t (A) 0 godiofo Giodlo vd Sfea 3
ROTT B0 e @19 yaer oy ataf anam § g
&y &ruaé @i O 2
d& (R) : @9 w;f%o{ g sc?cw F IRyl
GRT 3T A3 & godlodio @i Frgu @y

HE T U I BT Ay AR

FT—

A) (A) €1 &, oy (R) @ 2

(B) (A) 317\’ (R) aFl W @ gy (A) @ (R) ud)

(D) (A) ain ( ) AU ¥ N (A) @ (R) ) aine

Page | 15
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56. Given below are two statements, one of
which is labelled as Assertion (A) and the
other is labelled as Reason (R).

Assertion (A): In ommunity sports, physical
educators should advise parents and
community leaders.

Reason (R): Children develop their physial
skills within the limits of their potentials.

n the cotext of two statements, which one of

the following is correct?

Codes:

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true. :

56. g 41 wa Y o ¥ ByeE ¢ gyd @y
AT (A) 3 fadr @) wdb (R) war vy 2
affwer (A) : afde @« 3 moRes Riere c}ﬂ
s vd wmef¥es dant @ WW?T GOl
1Ry |
aF (R) : 9w ol sl B A $ R
Fo ARE FErerae w1 e vy §

g?ma’ﬁwwﬁﬁﬁmﬁﬁﬁw—«ﬁmwmﬂ 8?7

L

(A )(A) AR (R) @i ) & sl (A) & (R) wdl amar
(B) (A) 3R (R) «ril @Y & 3R (A) & (R) W& e

(C) (A)wdl & g (R) reid &1
(D) (A) wrefd 2, uewg (R) Wl 2|

AP/2016/0032

57. Given below are two statements, one is
laelled as Assertion (A) and the other is
labelled as Reason (R):

Assertion (A): Democray and recreation are
alike in spirit.

Reason (R): Democracy is committed to
giving each individual the opportunity to
grow, express and achieve fully. Recreation
offers the individual opportunity for genuine
satisfaction, creative expression and his
development in  attaining democracy
objectives.

In the cotext of the above two statements,

which one of the following is correct?

Codes:

(A) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are true and(R) is not the
correct explanation of (A).

(C) (A)istrue, but (R)is false.

(D) (A)is false, but (R) is true.

57. 19 @ wem Y 0 E ud @) sy (A) siv
ffT » =% (R)c})awm
siffrgmar (A) @ elreds iR weReE g § e
9% (R) : H&d @7 U8 g@ ded & B gde
alfe & el fQer ik whn g @ siqae
3 e wANer e Bl HE e, REGTRH
@\af“ ¥R AT Sededl o wifty @ fav
X

faar= HaWR fayy S |

§1 4l ber r e | e wUd BT U B

e

(A) (A) &= (R) <l @il & w7 (A) & (R) )
ARG ?ﬂ ‘§'|

(C) (A) =€) 2, 4=y (R) a7a &
(D) (A) erd 8, Wy (R) we) &

Page | 16
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58. Match List-l with List-ll and select the 59. Match List-l with List-ll and select the

correct answer from the code according to correct option from the codes given below:-
Selman (1980) stages of Interpersonal List- List-1I
Reasoning. I. Radio-ulnar 1. Cruciate Ligament
List-1 List-1l joint
. Stagel 1. Multiple role Il Hip Joint 2. Glenohumeral
taking Ligament
I Stage?2 2. Social it Knee Joint 3. Annular Ligament
information role iV Shoulder 4. Ligament Teres
taking Joint
Il Stage 3 3. Social and
convertional Codes:
system taking J 1l 1l v
IV Stage 4 4. Self- reflective (A) 3 4 1 2
role taking. (B) 2 3 4 1
. (C) 3 2 4 1
Codes (D) 4 1 2 3
| I 1l i\
(A) 2 4 3 1 59. 3@ -| -l & Wiy yafaa @i qen M Ry
(B) 1 3 4 2 T B § IR g -
(C) 1 3 2 4 3| il
(D) 4 5 3 1 I if%u\r IR 1, ghve femmHe
IR
58. 34! -1 Al 37 gl v iR ek (1980) & \ %@_ ﬂ% 2 aﬁh %%fﬁmqg
FAR GUE 98 B WY B YR U we W ud) i %@ Pl m 3. U fermie
TR @1 BT ARG — ° vV @ 3 4. fermde 2y
| Bl
. AU 1. 98 BT ggw B @
| AR 2 2. a1 R ' I i v
TBUT B3] (A) 3 4 1 2
TG 3. wHEIfse vd gRadEn (B) 2 3 4 1
AL @© 3 2 4 1
IV OERT 4 4, " ges uffar Qe (D) 4 1 5 3
EAs
I [l I v
(A) 2 4 3 1
(B) 1 3 4 2
(C) 1 3 2 4
(D) 4 2 3 1

Page | 17
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n

60. Match List-|

with List-ll and select the

correct option from the codes given below:-

List-|

. Vitamin B1 1.
Il Vitamin C 2.
- Vitamin D 3.
IV Vitamin E 4,
Codes

! !
(A) 1 2
(B) 2 3
(C) 3 4
(D) 4 1
60. g4l -1 -l & wer

HE W HEl Iar gﬁq
eI

o ey §i 1.
(1 e 2.
n faerfss € 3.
v ey 4.
G

| I
(A) 1 2
(B) 2 3
(C) 3 4
(D) 4 1

List-1
Growth
Anti-oxidant
Functioning of
Nerve
Collagen
formation

N = W
W N = A

YAfera &3 g Y 2
Beil!

gl

T arafigey

AlET & SRy

FHreAT= fyfor

N = B w
w N RN

61. If the unit for force is F, the unit for velocity
is V and the unit of time is T, then the unit

for energy is :
(A) FVT
(C) Fv/T?

61. T a1 & g F
SHIE T & o Fulf cn‘T THE L —

(A) FVT
(C) FV/T?

AP/2016/0032

(B) FV/T
(D) FV?/T?

AT EY TS Vol arafy o

(B) FV/T
(D) FV3/T?

62. Generalized Equation for converting Body

62.

63.

Density to % Body fat is :

(A) % Fat = (459/Body Density)-450

(B) % Fat = (Body Density/ 459)- 0.450
(C) % Fat = (0.450/Body Density}-0.459
(D) % Fat=(Body density/0.450)-459

IR UTET @ IR G % w5 Y Ay
B &

(A) % a1 = (459 / 919% yo7e)—450

(B) % a1 = (3r8% wred / 459)—0.450

(C) % a1 = (p.450 /219 EHE)—0.459

(D} % ax11 = (3197 9+1ed / 0.450)—459

Which of the following are not the factors
influencing contraction?

(1) Strength of stimulus

(Il) ATP

(1) Muscle tone

(IV) Duration of stimulus

Find the correct combination from the following
codes:

63.

fFrerfafyd oo v 98 3w wr uor @

Series-A

(A) (11), ( V)

(8) (1), {

(C) (m), ( V)

(D) (N, ()

STEET BT R T R a1 Psififea e
BRE &7

(1) WD BT Fel

(1) voiotlo

(n Sraveiy e

(IV) 3¢digs o

T’:\

47T @RIt

(A) (), (Iv)

) (1), (1)

) (1), (1v)
(

(B
(C
(D) (1, ()
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64. Find the correct pancreatic juice action:

64.

65.

65.

(1) Amylopsin acts on carbohydrate
(1) Invertase acts on protein

(111) Steapsin acts on fats

(IV) Typsin acts on sucrose

Codes:

(A) (1) and (i)
(C) (1) and (111

(B) (I!) and (1V)
(D) (1) and (IV)

WET AT O FUT @7 T AN —

() @diergze o0 CargoliinT &l yarg

(1) €1 o0 gmees ot wing

(1) e 9 el oyt

(IV) a7 W RIT &1 wig

(A)(l):m(ll) (B) (i) sfix (1v)

(C) (1) =i (1) (D) (1) =it (1V) -

Bureaucratic struture as developed by 'Max
Weber' is as follows:
I} Top Management
It} Middle Management
fil) Scientific Management
IV) Supervisory management
Find the correct code:
(A) (1), (i) and (1)
(B) (1), (1) and (1V)
(C) (), () and (1V)
(D) (1), (1) and (1V)
ARt J g el @ a0l A s o
g fefalad & —
(1) 2 uders (1) e geers
(1) dsnfves udes  (IV) ydded ydga
FE G BT JAr T
A) (1), (1) sfiz (1)
B) (h), (III)@TN(IV)
C) (), ( (lV)
) (1), (HI) T(IV)

(
(
(
(D

AP/2016/0032

66. Given below are two statements,

cne is
labelled as Assertion (A) and the other
labelled as Reason (R):

Assertion (A): Kinesthesia is the recognition
of the location and rate of movement of the
parts of the body in relation to the other
parts.

Reason (R): Sensations are interpreted in the
brain, but recognized as occurring in the
periphery.

In the context of the above two statements,
which one of the following statements is correct.

A. (A) is true, but (R) is not the correct
explanation of (A)
B. (A) is true, but (R)
explanation of (A)
C. (A) is true but (R) is false.
D. (A) is false but (R) is true

is the correct

C AR ey Ry R 8y 61 Mo

(A) ganr fada @ we (R) w1 7yt 2

gfreas (A) 0 alddy ger V' (m AUEIT NI b
wqiaRur 3 TR 1y @) a2

do (R) @ wdq AR § el @
¥y s # wfed did gy udia t\n\i &1
SW T & @uhr & dusd N ahoar ve ud 87
&E =

(A) (A) w2
g |

(B) (A) WY & &ifdst (R), (A) & wdy ayreaur 3
(C) (A) wie) & o‘@w (R) Teter &1

(D) (A} a1d & aifbe

dfde (R), (A) & a8 amer af

I (R) & &

67 Who among the following gave the Olympic

67. frsifeafag & 9 fvae Gﬂ‘mf\ucﬁ BTG

Series-A

“Motto” ?
(A) Henry Dedion
(C) Plato

(B) Cubertin
(D) Juon Antonio Samaranch

roterary faur?
(A) &= rlr Sy
(C) wrer

(B) =
(D) :ga%r-‘»f Q:sﬁf?vfsﬂ GENE]
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68. Given below are two statements, one is
labelled as Assertion (A) and the other
fabelled as Reason (R):

Assertion (A): Tension is a mechanical
interaction between an object and its
surroundings..

Reason (R): Shear is a tearing force directed
parallel to a surface.

In the context of the above two statements,

which of the following statements is correct?

A. Both (A) and (R) are true and (R) is the
correct explanation of (A)

B. Both (A) and (R) are true but (R) is not the
correct explanation of (A)

C. (A) is true but (R} is false.

D. (A) is false but (R} is true.

68 a1 wu fad W & Ord & vow 31 afdu
(A) aer fadfg & a& (R) ser 7a1 8
@ (A) @ Rdarg B cmj HR g7 yRae
& g IR YiFe f\uf

da (R) : uldes wag & wrmar ffde e qu
qel BYdl 2 |
feraferiaa & wiv 7 w97 IWIFy & Ferl § ud 87
R
(A) (A) 3T (R) @1siT w8) & 3w (A) @ (R)  <ed

YR 2 |
(B) (A) ¢ (R) dit &) & 57 (A) %7 (R) i
IrRYT A8l & ‘

(C) (A) s & ey (R) i ¥ |
(D) (A) wrere &, =g (R) el ¥

69. In which of the following years India didn't
participate in the commonwealth games?

() 1934 (1) 1930
(1) 1950 (IV) 1958
(V) 1962 (VI) 1986

C
A (1), (), (V) B. (1), (1), (V)
C. (), (), (v), (Vi) — D.(I1), (1V), (V), (VI)
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60. f=faRey & @ 5= ot F yra & FE=deer MY
H ey F8 @) oY

(1) 1934 (1) 1930
(1) 1950 (IV) 1958
(V) 1962 (V) 1986
Gg:d
A (1), (1), (V) B. (1), (1), (V)
C. (1), (), (v}, (V1) D. (1), (1v), (V), (Vi)

70. Arrange in sequence the Summer Ciymaics
held in chronological order.
(1) Barcelona, Spain
() Rome, Italy
(II) Helsinki, Finland
(IV) Seoul, Korea
Codes:

A1), (1), (Iv), () Bl (), (1v), (1)
C. (1), (1IV), (1), (1) D. (1v), (1), (1), (1)

70. WHBIENT $os & @Zive o wEEHITER
(\l) ém'*@“ﬁ*, o (I n, e

(1) getaa wremg (IV) Rpie, aiRe
A (1), (), (v, ) B, (1), (v), (1)
(1), {1v), (1), (1) D (1v), (), (1, (1)

O

71. Arrange the following factors (from most
important to least important) that the
determine the flight distance in long Jump.

(I} Take-off angle (1) Take-off height

(1) Take-off velocity (V) Air resistance

(A) (1), (i), (1, (V) (B) (1), (1), (1), (1v)

(C) (0, (), (), avy (D) (i), (1), (), (1v)

71, W) e W owan B @ e Peie wo T

S

ST bl (AR e HEayel e g0 oo
&H # @glery M
() & il vig () ew—aifn =
() e 3w daifrd) (V) aryg v
(A) (1), (1), (1), (V) (8) (1), (1), (1), {1V)
(C) (0, (nn, (m), vy (D) (i), (1), (1), {1v)
Page | 20

Series-A



72. Assessment of person

ality based on

theoretical models has undergone change

with passage of time.
sequential order using
below:
(1) Type theory (W. Sheldo
(1) Social learning theo
Clelland)

Arrange them in
the codes given

n)
ry (Bandura, Mc

(1) 16 Personality factor (G. All part)
(IV) Big five factors (Goldberg)

Codes:
(A) (1), (1), (1), (1v) (B) (1)
(C) (1), (I8, (1), (1v) (D) (1),

, (V) (my, (0

(
(1), (1v), (111)

72. At 7redt W iR afdy arpes ¥ vy

o & @I gy sy ¥
YT IR gV I ABNE &

(I) vou fgra (sey, deem)

M2 3 1y @ wr

Y 3 wgfed dﬁﬁ\; N

) arfsre s o1 Rigra (awea, 99 gorse)

(
(1h) 16 &fda &Re (Goara
{

yie)

V) fa wrge weed (Mese)

(A) (1), (1), (), (1
(C) (1), (), (0, (1

V) (B) (1),
V) (D) (i),

73. Match List-1 with List-lI

(v), (), ()
(1), (v), (1)

and select the

correct option from the codes given below: -

List-I List-li
(a) Surplus Energy Theory i.  Aristotle
(b) Anticipatory Theory ii.  Schilfler and
Spencer
(c) Recreational Theory iii. Carl Groos
(d) Cathartic Theory iv. Kames and
G.T.W. Patrick
Codes:
@ (b)) () (d)
(A) (i) (v} (i) (i)
(B) (iy (i) (i) (iv)
(C) (i () (iv) (i)
(D) (i) (i) (i (iv)

73. 4 I?{rﬁllﬁmaﬁﬁqam%%ﬁ@

P F WE I -
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G- GEll!
(a RRsr st Rrera i Wveed
(b yarmar Rygra i, IR gUT WA
(¢ WARSTTE g i, @ yu
(d =T fagia v, @FST adur shodo
Ya0 Uedw
e ! Il 1 v
(A) (if) (iv) (i) (i)
(B) (ii) (iii) (i) (iv)
(C) (ii) (iii) (iv) (i)
(D) (i) (i) (i) (iv)

74. Match List-] with List-fl

and select the

correct option from the codes given below: -

List-I
(a Xiphoid process
(b Spine joint
(c  Hinge and pivot joint
{d  Condyioid and saddle joint
(

e First carpo metacarpal joint  v.

Codes: (a) (b) (c)
(A) (i) (iv) (v)
(B) (i) (v) (i)
(C) (iv) (i) {v)
(D) (v) (i) (i)

List-1
i Biaxial
iil.  Sternum
iii. Saddle
iv. Gliding
Uniaxial

74. 3 -l g R R B R R R T are)

B A IR BT T Y —

gdi—| gl

(a Frwgs ufeu i fesehy
(b V& uire i RIRAA
(c [& ik digdie wig i, e

(d @RS ok et Siie §y, e
(e UEST BUMETHTF We . Usaedy
& @ (b))  (c (d)  (e)
(A) (i) (iv) (v (i) (i)
(B) (i) (v) (i (iv) (i)
(C) (iv) (i) (v) (i) (i)
(D) (v} iy (i) (i) (iv)

Series-A



75. Match List-I

with List-li

and select the

correct option from the codes given below: -

List-|
(Muscle)
(a) Adductor longus
{b) Sartorious

(c) Hiopsoas

(d) Gluteus Medius

(A) iv) (i)
(B) (v) (i)
(€ iy (v
(D) (i) (i)

List-ll

(Insertion)

i Pea Anserinus

ii.  Lesser trochanter
of the femur

iii. Qreater
trochanter of the
femur

iv. Llinea aspera of
femur

v. Tibial tuberosity

(c) (d)
Gy (i)
Gy (iv)
i) (i)
(v) (i)

75 3pdY -} @l @ yEled ¥ ok Ry 2l gt
A FE Bl DI AT B -

-]
(miRmaeEl)
(a USaR @i i
(b wxeRyy i

(c sfemiudy i,

(d qfeys iv.
EHERES

(v)
B (a) (b)
(A) (iv) (i)
(B) (v) (i)
(C) (i) (iv)
(D) (i) (iii)

||
(Fyaer)
g g
oy a1 ey

G1eeR

R &1 Yex Tigey
e &1 farfaa
TRTURT

fefaere eyaafyd
(c) (d)

(i) (iii)

(i) (iv)

(i) (i)

(iv) (ii)

76. Name the psychologist who defined stimulus
in terms of physical energy such as sound,

light etc.
(A) Throndike
{C) Skinner
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(B) Kohler
(D) Hull

76. I HHIAsFE @1 oy " e
ST SR eafy, warer ger + giE

(A) erigigs (B) ¢igv
(C) Raev (D) &+
77. The rival factors which threa: -2

validity of a research problem s .
(A) Independent variables

(B) Internal threat

(C) Extraneous variable

(D) Confounding

77. ufagd & SV ORNY WHNUT BT s
fau zq(m b]
(A) T3 R (B) areifRas s

(C) 92T ux (D) *iraw

78. The law of readiness depends upon:
(A) Student Interest

(B) Student Ability

(C) Student Need

(D) Student Maturity

78, ARG @] fagrd e
(A) wra & ()saa
(C} vz zowwad (D) wisi wiRuadd

79. Attributiobnal  theory of

y%qﬁ C’ﬁ QR‘“

internal

SRS

achievement

behaviour has two stable factors, they are:

(1) Ability
(1) Luck
Find the correct answer;

(A) (1) and (1) (B) (1) and (IV)

() Effort

(1V) Task difficulty

(C) (1) and (1) (D) (1) and (111)

79. Quifdl wgeR @ Tuiew Rene oW Rew
GRG &, d &~

(1) Ara (1) v

(111) *n7yg (IV) &Rt @Y wfsars

el YR gl —

(A) (1) 3 (1) (B) (1) 5 (IV)

(C) (1) =ire (1) (D) (1) s (1)

Series-A
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80.

80.

81.

81.

82.

82.

83.

83.

84.

The Terminal velocity of an object depends
on:

{a) Mass
(c) Gravity

-

(b) Shape
(d) Volume

fneiT avg @1 oty qur favr vk Pnlk wear @2
(a) sarwid (b) anafey
(c) o (d) afkeror

Which organ performs endocrime as well as
exocrime functions in human body?

a) Liver b) Kidneys

¢) Pancreas d) Gall biadder

frafafiee = 31 25 @1 s weg s8R § i s
@ Wiy €l o @1 N @war §°

(a) ¥aa (b) et

(c) arvirey (d) facerera

Frontal plane divides the body into -
a) Front and back halves

b) Left and right halves

¢) Upper and lower halves

d} Inner and outer halves

Bed Wi Tk @ famfg aed 8 -
(@) ar=t vd uvy el #

(b) a5 va gfdor apd A

(c) Fed ud srey aef 3

(d) ariafRe ud argy e §

Development of maximum strenth should
start at the age of.
(a) 8-10 years

(c) 14-15 years

(b) 11-13 years
(d) 16-18 years

RGEH died e Qe by arg af A uw
B wfau?

(a) 8—10 ay
(c) 14—15 gy

(b) 11—13 qy
(d) 1618 g4

Health related fitness does not include.
a) Flexibility b) Speed

AP/2016/0032

Q)

Q o

d

Series-A

Endurance d) Body composition

ARy W (T vavadT # gy wnfier |l @ -
A (b) ufy
RESRIEG] (d) R & iR

. Close form questionnaire contains questions

that call for -
Descriptive response
Free response
Short response
Check response

g7 geIgel § yg md welf @ U R vaRr @
IaA IrufErd wrar 87

fqRuneTd IarR

qad Ica?

i 3w

Sig F&R

. One of the important research tool is-

Questionnaire
Library technique
Hypothesizing
Survey

N HT Ub G9UPH AgT & —
PRSI

ABTHI Teh+ il

yReoas fAgiv

dequr

. Aim of sports training is -

improvement of Physical fitness
Improvement of technical skills
Improvement of tactical efficiency
Improvement of sports performance

e yfvetvr o1 Dy dar & —
ANRS gredar & Iy

THHIBT Breet B 3y

wilfae @Rl e fguar @ 9=
S & I
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88.

88.

89.

89.

90.

90.

91.

From the following, idetify the one which is
not a theory of management.

a) The classical theory

b) The neo-classical theory

c) The systematic analytical theory

d) The modern theory

S A 1d ¥ § B W wdeeT ugfa w8 87
(a) genfhiary Rigw

(b) 71g gl Rigrd

(c) maRaa Avaiyumeas Rigra

(d) sigfres Ry

A subject exercised for five minutes in
Harward step test. If his total pulse count
was 250, then his fitness index will be: -

a) 60 b) 70

c)75 d) 55

RS WU e d ufg e @ fov us Rvy gu
fapar Srrar | Ul 3ud got Yo HISVE 250 A Al
I AUl grsa 8|

a) 60 b) 70

)75 d) 55

Ground friction depends on -

a) Surface area of contact and nature of
surface

b} Nature of material and surface area

c) Nature of surface and nature of material
d) Nature of surface and co-efficient of
friction

afy efur fpfR wRar @ -

(a) 9% & uIdd 3R Udel & 9w U
(b) gerd @& w@wy iR gvd

(c) ERTErS & XAHY AR Ut & WHY W
(d) uRrdel @1 w@Ray 3R |y Qi Ul

Casual analysis of motion is called : -
a) Kinetics
b) statics

AP/2016/0032

c) Kinematics
d) Dynamics

Ao & amef¥e favawy o aud &~
(a) Brgifeaq

(b) wfees

(c) g mifee

(d) granfaag

. Milk, Butter and ghee provide: -

a) Vitamin B and C
b} Vitamin E and K
¢) Vitamin Aand D
d) Vitamin Cand E

qu, WA o ] T ey 7
4 va @

. The contractile unit of skeletol muscle is:-

a) Sarcomere

b) Actin and Myosin

¢) Z-line

d) Myopibril

ke e @) g gdld @ -
(@) =ty

(b) uiozm air ARy

(c) =8 &=

(d) s =zlda

. The National Plan of Physical Education was

published by Government of india in : -
a) 1956 b) 1957
c) 1958 d) 1959

94. WRA R ERI Jiel Wil 3TH (hliraa
NOCHERENECLI IO I
a) 1956 b) 1957
c) 1958 d) 1959

Page | 24



95. Transition period in training cycle aims at: -

Q8.

96.

96.

97.

97.

a) Recovery

b) Peaking

c) Rehabilitation

d) Super Compensation

SR WIEEY § Hean er @1 aly 2ldr gi—

Which one of the following is not a research

tool?

a) Stop watch

b) Video Camera
c) Questionnaire
d) Survey

Feifafa 3 & @ m ve ey gumeor a8 22
(a) ¥¢u ara

(b) difsx wav

(c) goTaety
(d) sderur

Flexion and extension occur around:-
a) Medio-lateral axis

b) Anterio-posterior axis

c) Vertical axis

d) Sogittal axis

AT SR R g1y & —
(a) we ged ey

(b) wrga wegy aer

(c) Ted sy

(d) et s
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98. Somatotyping profile of (4, 4, 1)

considered as : -
a) Endomorph Mesomorph
b} Endomorphic Mesomorph
¢) Balanced Mesomorph
d) Mesomorphic endomorph
98. WIHEIRISY HURET (4, 4, 1) Pl aedl -
(a) vverms faang
(b) vwerifle Medqmg
(c) wgfera fipiy
(d) BernfFe orgEy

99. Getting the right facts to the right people at

the right time in the right way is called: -
a) Game Management

b) Public relations in sport

¢) Motivation in sport

d) Leadership in sport

99. U aw‘r ST WU T HY T wd el da

QSJ ! @l HET o) & —
(a) et gdu

(b) @l i S s
(c) @eit & forg yeur
(d) @ell % Agey

100. In which game pressure training method

was first used: -
a) Hockey
c) Volley ball

b) Football
d) Basketball

100. fb et & wduey aqg Bmior QY o R

fBar gt o2
(a) gfan
(c) atehrara (d) arvbedts
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